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HV THBW [ HRA | HRB [ HRC | HS | T5 HV THBW [ HRA | HRB [ HRC| HS | 15
940 | — 856 | —|680| 97| — | [340 3226767080344 471070
90| —[83| —|675| 9| — | |[330|313 670 —|333| —|1035
90| — (80| —|670| 95| —| |320| 303 664|7070|322| 451005
880 | 767|847 | —|664| 93| —| |[310| 294 /658 —|31.0| — | 980
860 | 757|844 | —|659| 92| —| |300| 284 |652|7055|298 | 42| 950
840 | 745|841 | —|653| 91| —| |205| 280 |648| —|292| — | 935
820 | 737|838 | —|647| 90| — | |290| 275 |645|7045|285| 41| 915
800 | 722834 | —|640| 88| — | |285| 270 642 | —|27.8| — | 905
780 | 770|830 | —|633| 87| —| |280| 265|638 |7085|27.1| 40| 890
760 | 698|826 | —|625| 8| —| |275| 261|635 —|264| — | 875
740 | 684|822 | —|618| 84| —| |270| 256 |63.1| 7020|256 | 38| 855
70| 670|818 | —|610| 83| —| |265| 252|627 —|248| — | 840
700 | 656|813 | —|601| 81| —| |260| 247 |624|707.0|240| 37| 825
690 | 647|811 | —|507| —| —| |255| 243|620 —|231| — | 805
680 | 635|808 | —|592| 80| —| |250| 238|616 995|222 | 36| 795
670 | 630 (806 | — |588| —| —| |245| 233|612 —|21.3| — | 780
660 | 620 [80.3 | —|583| 79| — | |240| 228 |60.7| 98.1|20.3 | 34| 765
650 | 611|800 | —|578| —| —| |280| 219 —| 97| 780| 33| 730
640 | 601 (798 | —|573| 77| —| |220|209| —| 950 757| 32| 695
630 | 591 (795 | —|568| —| —| |[210| 200 —| 934|734| 30| 670
620 | 582 (792 | —|563| 75| —| |200|190| —| 91.5|770| 29| 635
610 | 573 (789 | —|857| —| —| [190| 181 | —| 895| 45| 28| 605
600 | 564 (786 | —|552| 74| — | [180| 171 | —| 87.1| 60| 26| 580
590 | 554 | 784 | — |547| — |2085| |170| 162| — | 850 | 30| 25| 545
580 | 545 | 780 | —|541| 72|2020| |160| 152| — | 817 | 00| 24| 515
570 | 535 | 77.8 | — |536| —|1985| [150 | 143| — | 787| —| 22| 490
560 | 525 | 77.4| —|530| 711950 | |140| 183 | —| 750 | — | 21| 455
550 | 517 | 770 | —|523| — |1905 | |130| 124| —| 712| —| 20| 425
540 | 507 | 767 | — |51.7| 69 |1860 | |120| 114| —| 667 —| — | 390
530 | 497 | 764 | —|51.1| —|1825| |[110[105| —|623| —| —| —
520 | 488 | 76.1 | —|505| 671795 | |100| 95| —| 862 —| —| —
510 | 479 | 757 | —|49.8| — | 1750 % | 90| —|50| —| —| —
500 | 471|753 | — |49.1| 66| 1705 90| 8| — |40 —| —| —
490 | 460 | 749 | — | 484 | — | 1660 85| 81| —| 40| —| —| —
480 | 452 | 745 | —|47.7| 641620

470 | 442 | 741 | — | 469 | — | 1570 | FRPORXFIFEEALSNGVEEE

460 | 433|736 | —|46.1 | 62|1530| [V :Evh—=@Es

450 | 425|733 | — 453 — | 1495 | |HBW:ZUZRILES

40| 415|728 | — | 45| 59| 1460 | | HRAI DY DT LBIAZY L

430 | 405 | 723 | — 436 — | 1410 : z -

420 | 397 | 71.8 | — | 427 | 571370 ﬂgcigégégbﬁgu# »

410 | 388 (714 | —|418| —|1330| |TS :5IEBESDELUE (MPa)

400 | 379|708 | — | 408 | 551200

390 | 369 1703 | — 398 | — | 1240 | JISA\YRTvY (BKM1) HS3IMAKRE
380 | 360 | 69.8 | 770.0| 388 | 52 | 1205

370 | 350 692 | — 377 —| 1170

360 | 341 | 68.7 | 7090|366 | 50| 1130

350 | 331680 | —|355] — 1005
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inch 75 mm ANDEH

BB © 1inch=25.4mm
in in mm in in mm
Via 0.015625 0.3969 % 0.515625 13.0969
Vi 0.03125 0.7938 A 053125 13.4938
9 0.046875 1.1906 % 0546875 13.8906
e 0.0625 1.5875 9 0.5625 14.2875
Z9 0.078125 1.9844 % 0578125 14.6844
% 0.09375 23812 % 059375 15.0812
74 0.109375 27781 % 0609375 15.4781
A 0.125 3.175 24 0625 15.875
% 0.140625 35719 e 0.640625 16.2719
4 0.15625 3.9688 2 0.65625 16.6688
P 0.171875 43656 A 0671875 17.0656
3 0.1875 47625 P 0.6875 17.4625
% 0.203125 5.1594 A 0.703125 17.8594
A 0.21875 55562 2 0.71875 18.2562
% 0.234375 59531 i 0.734375 18.6531
v 025 635 74 0.75 19.05
e 0.265625 6.7469 % 0.765625 19.4469
%42 0.28125 7.1438 %% 0.78125 19.8438
%, 0.296875 7.5406 o 0.796875 20.2406
2 03125 7.9375 e 0.8125 20.6375
2% 0328125 8.3344 %, 0.828125 21.0344
P 0.34375 8.7312 % 0.84375 21.4312
%, 0359375 9.1281 %, 0.859375 21.8281
% 0375 9525 % 0875 22.225
%, 0390625 9.9219 a 0.890625 226219
A 0.40625 10.3188 %% 0.90625 23.0188
%, 0.421875 10.7156 5% 0921875 23.4156
28 0.4375 11.1125 P 0.9375 23.8125
% | 0453125 11.5094 8¢, | 0953125 242094
%% 0.46875 11.9062 2 0.96875 24,6062
Vs 0.484375 12.3031 8 0.984375 25.0031
4 05 127 1 1 254
in 1 2 3 4 5 6 7 8 9
mm 254 | 508 | 762 | 1016 | 127.0 | 1524 | 1778 | 2032 | 2286
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U

A4 HE

EHMRE R

k<
R M B | AP | AYF | Taob | Y-k | T A0
1 0.166666 0.000077 0.30303 11.9305 0.994211 0.331403 | 0.000188
6 1 0.000462 1.81818 71.5832 5.96527 1.98842 0.001129
12960.0 2160.00 1 3927.27 154619 12884.9 4294.99 2.44033
3.3 0.55 0.000254 1 39.3707 3.28089 1.09363 0.000621
0.083818 0.013969 0.000006 0.025399 1 0.08333 0.027777| 0.000015
1.00582 0.167617 0.000077 0.304794 12 1 0.333333| 0.000189
3.01746 0.50291 0.000232 0.914383 36 3 1 0.000568
5310.83 885.123 0.409779 | 1609.31 63360 5280 1760.331403 | 1
7=t
i 53 ;o [Erx—taf 7 - | FEER L 1on— | wmTan
1 0.003333 0.000333 3305785 0.033058 0.000003 0.000816 | 0.000001
300 1 0.1 991.736 9.91736 0.000991 0.245072 | 0.000382
3000 10 1 9917.36 99.1736 0.009917 245072 | 0.003829
0.3025 0.001008 0.0001 1 0.01 0.000001 0.000247 | 0.00000038
30.25 0.100833 0.010083 100 1 0.0001 0.024711] 0.000038
302500 1008.33 100.833 1000000 10000 1 247.114 0.386116
122412 4.08043 0.40804 404687 40.4671 0.004046 1 0.001562
783443 2611.47 261.147 2589894.2 25898.9 2.589894 | 640 1
B &
& | PET vubn | wsaF [usT - b AOr G0 | Anve | 7YEEY
1 180.39 0.18039 1 0.00632 0.0397 0.04765 0.00496
0.00554 1 0.001 0.06102 0.000035 0.00022 0.00026 0.000027
5.5435 1000 1 61.024 0.0353 0.21998 0.26418 0.02745
0.0908 16.387 0.01639 1 0.00058 0.0036 0.0042 0.00045
156.9 28317 28.317 1728 1 6.22 7.45 0.775
252 4546 4.546 277.26 0.1608 1 1.20026 0.1249
209 3785 3.785 231 0.134 0.833 1 0.104
200.19 36368 36.368 2220 1.2836 8 9.6021 1
E =
' Foo| o5n #0054 £ 2 | Kk | 2@ | by
1 6.25 3750 3.75 132.277 8.26732 0.00369 0.004133
0.16 1 600 0.6 21.1641 1.32277 0.00059 0.000661
0.000266 0.001666 1 0.001 0.035273 0.002204 | 0.0000009 0.000001
0.266666 1.66666 1000 1 35.2739 2.20462 0.000984 0.001102
0.007559 0.047249 28.3495 0.028349 1 0.0625 0.000027 0.000031
0.120958 0.755988 453.592 0.453592 16 1 0.000446 0.0005
270.946 1693.41 1016047 1016.0 35840 2240 1 1.12
241916 1511.97 907178 907.178 32000 2000 0.892857 1
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=3 = P 1% m
=1 = 04 7 A ke
53 il # s
B i 7y R 7 A
=) N # =\ =3 g B ¥ K
Ll " = t y12 mol
*x B horv Tz cd
BB D&M EIF DML EAL
o B BB E /- LB EA
g i o BI85 L\ (34
% i e | OMIBEMICKDETS
A b4 # ~ 12 v Hz THz=1s""

5 Z—a-F> N TIN=1kg m//s
£ 2NN Y 5 /IR A I | Pa 1Pa=1N/m*
IxIVF—- -+ -8=2 S oa = J 1J=1N-+m
ft = x (IX) 7 v ~ W TW=1J/s
E ®w - B T B s — o ¥ | C 1C=1A"-s
B - BfE - B - i£F R y)7 ~ \Y 1V=1J,/C
BERE - Fv /LI UR 7 7 7 R F 1F=1C/V
S = i 7l F - A Q 1Q=1V/A
a v ¥ v v v R o= AR S 1S=1Q""
B R Y o — /N | Wb TWb=1V-s
WREE WasE T R > T 1T=1Wb/m’
A4 v ¥ v 5 > R N oy = H 1H=1Wb/A
J Ed o= A Im Tlm=1cd:sr
s} = iz o R Ix 1Ix=1Im/m?

TERBNAIESIBMIE DB
= TEREN SIE=-tiva B! E E
= =1 =2} rad 0.0174533
- rad 0.000290888
- rad 0.00000484814
L3 B km “h m. s 0.2777778
= 2 (#) kef N 9.80665
BENAEBELLUDODES kgf m’® N m? 9.80665
oo ' — A > bk kgf - m Nm 9.80665
E h ke, m Pa 9.80665
kgf.cm Pa 98066.5
kgt mm Pa 9806650
mH.O Pa 9806.65
mmHg Pa 133.322
latm Pa 101325
s pal kg~ mm* N~ mm* 9.80665
£ = kw - h J 3600000
cal J 418605
T = kef - m. /s w 9.80665
PS w 735.5
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